o
[N

<0 @> (rad)
o
o [
[y [4)]

o
TIT [T T [ TI T[T T[T I T I T[rrrT

.......

.........

Ratio
&
LI IM

T

100,

-1 0 1

2

3

TP n (PCA to beamline)

< o cot(y) >

.........

0.95!

-2

-1 0 1

TP n (PCA to bea

2

DQM_V0001_R000000001__Global _CMSSW_mkit5014_RECO
—— DQM_V0001_R000000001__Global__CMSSW_mktt50i5_RECO
—— DQM_V0001_R000000001__Global__CMSSW_mktt50i6_RECO

< 00, > (M)

(@)
LR I L L L L L RN AR R

8

T

-1 0 1

2

3

TP n (PCA to beamline)

<opp >0

.......................

Ratio

[TTTT

-1 0 1

2

3

TP n (PCA- to beamline)

—~

RatioI

100,

3
mline)

0.95

W

-2

-1 0 1

2

3

TP n (PCA to beamline)



	Contents
	Page 1


